A & 0ol & AF S H Al A

el ES Iy
200 N2l
210 ZAEAM2 =
212 NHES 2 (2l &R)
2N -F-2-8-32 Ol A oH T EH 0| AbH Hnsz
ES Al 7,797,572 11,133,500 3,335,928
1t 7,797,572 11,133,500 23,335,928
200 Mlel==& 360,000 389,000 229,000
210 J&E AN Q=L 360,000 389,000 229,000
212 AE2E2Y 360,000 351,000 9,000
212-02 StEAER= 36,000 35,000 1,000
O4otd ZAIEZE 36,000
212-05 SR==HAIEZ 38,000 30,000 8,000
O3s=H FAMEZR 38,000
212-09 JIEtAE = 286,000 286,000 0
ONQEMTE ALAIEE ¢ 246,000
ORI AIZZ 40,000
50 X3 7,437,572 9,224,500 A1,786,928
510 2 1BX2S 4,721,312 2,474,500 2,246,812
5N =202x3s 4,721,312 2,474,500 2,246,812
51101 =1EX= 4,221,312 2,474,500 1,746,812
ORI Ar (4T == A1) 632,241
O=II5I 8RR E4=Ated (4THZ 2ot & 22 ) 225,071
OTHXT 2LMBAIL HXIAI 3,364,000
511-02 201D LHEEINERS 500,000 0 500,000
O=24F THAHRABINA X T HHIAL 500,000
520 Al - SHIBXZS 2,716,260 6,750,000 24,033,740
521 Al - SHIBZX =S 2,716,260 6,750,000 A4,083,740
52101 Al - SHIBZZ2S 2,716,260 6,750,000 24,033,740
OUEAEXIF MENGIHE SJAAY 1,663,460
OXotd SAI2elAt 130,000
O=24t THEHRAZINAXIT HHIAL 250,000
O T LEMBAIL HXIAI 672,800
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A SHED
H#: GlEol RIS As
Chel: EAGHE EH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS5Hd HIFMZAIE A4 L TS
80,00024%122 960
OKIoIE X8+ BOF MIGHNHHME
330,00024* 12 3,960
OAI0IAE L B5tE TYAIL SXI22/| 10,000
OKIOIE +ZFAIE RR22I2%H| 23,000
307 QI2H0| & 40,000 40,000
04 QIZEHAIAI 2 X 40,000 40,000
OFS w2l 2I| #A 40,000
401 Al HIZL 2 OHHI 640,000 260,000 380,000
01 Al&ZHI 640,000 260,000 380,000
O ABHEEHI(5IH2) 150,000
OZRFelZ () SISHTa ZXSA
180,000,0002 %174 A 180,000
OS5Id 2ots MXIAIY 200,000
Oigtd 9B TMAY 100,000
O85Id B2 ZHAY 10,000
ULt 51 HH| 660,000 460,000 200,000
[ 130,000
Al 530,000
ste sxzel 660,000 460,000 200,000
== 130,000
Al 530,000
401 AIZHIZL S THY 660,000 460,000 200,000
== 130,000
Al 530,000
01 Al&ZHI 660,000 460,000 200,000
OXIgatd X2l (300124/176. 1km) 260,000
= 130,000
Al 130,000
OXIGHE SAeXIFES MIHARI(300HA/176. 1k
m) 100,000
OXIgstA AIEE >R XIHI(30I04/176. 1km) 100,000
OXlsotd elAld B2 L (5704 /176
. Tkm) 90,000
OXI YA EXI B FHI(30IH2/176. Tkm) 10,000
OUEA AF2 22 THAY 50,000
OZLH EX U2 BY THAIY 50,000
SHE THBH Ol 2 951,082 805,882 145,150
ol JIM4H 2 Mg 212 B 851,082 805,882 45,150
101 Q124H] 421,228 375,378 45,850
M IRINZ2TSE S 421,228 375,378 45,850
OBIMAIE S XIZ2I 2 (5HED]) 390,744




S SRR
3 otdel 1RIIs 3
cHel: St THoH o e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-Jl=s 80,0002 x 182 168 241,920
-reERdrd 80,0002 » 182 »36& 50,400
IR UPNE =Sy 80,0003 x18H 8! 11,520
-Re2e=g 120,000 x18F « 16 34,560
-4 28 =(18Y) 37,224
—stEzelE 3AI(18)
5,0002 x 182 *168 15,120
OsZ)| StEAEFII2te| o1 (4Y) 30,484
-Jl== 80,0003 4 & x50 18,880
-FaRgsE 80,0003 x4 & »132 4,160
RPNE =TSy 80,0002 x4 H+3& 960
-Re2edE 120,000 x4 & x5 2,400
—401 2E8=(49) 2,904
—std2el@ SAHI(4E)
5,000 x4 +50 1,180
201 Ler23| 57,004 57,504 A500
01 At2teltl 4,500 5,000 A500
OXlglotd 2158l 428 S HIS 4,500
02 S3=gHl 52,504 52,504 0
Og=zh| 14,724
—0IF21 1,633 *20CH*3c| Ex 15«83 11,758
— Lp2H0] 1,633 *10H+202| E 10«83 2,613
-NSE 1,633 +30H+3c| B +3 <8 353
OAIEEHl |l 37,780
—0IFI 215 63,0003 »20CH+8E 10,080
—WFIIE 2 55 110,000 x20CH~8& 17,600
- Ot83s 9 55 240,000& *20H <23 9,600
— Ik 500,000 *1CH*12] 500
202 O4H| 1,800 2,000 A200
01 2L A 1,800 2,000 A200
Odtd 2cIAtY HRFZ0H 1,800
401 AIEHIZ SR HYI 371,000 371,000
01 Al&HI 370,000 370,000
EFH otEIIEM ZHIAZ (3002 /176. 1km) 180,000
ONE 2= FHIHI(30IHA/176. 1km) 130,000
OXIgatd 2132 ZH| 2l YXHHI(30IHA/176.
1km) 60,000
03 Al = THHI 1,000 1,000 0
OJIgHM dBIAE AlE=0htl 1,000
AIOIE Set82t ot EHIAY 100,000 100,000
401 Al HIZL 201 100,000 100,000
01 Al&HI 100,000 100,000
OXoE =852t ot FHIAY 100,000




SAM: ol
M Sieol 1RIIs st
Rl MEHSIE S3ANY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HEHfotd SEAY 1,663,460 10,000,000 8,336,540
= 1,663,460
UEE X7 MEHSIESRAIG (HEALY) 1,663,460 2,000,000 A336,540
< 1,663,460
401 A& HIX R0 1,663,460 2,000,000 N\336,540
= 1,663,460
01 Al&HI 1,663,460 2,000,000 A336,540
OUEA X7 MHstE=R L=1.km 1,663,460
= 1,663,460
S=MFAE EXIA 4,036,800 1,169,500 2,867,300
= 3,364,000
= 672,800
X7 2=NFAIE EXNAS 4,036,800 1,169,500 2,867,300
= 3,364,000
== 672,800
401 Al HIZ 2018 4,036,800 1,169,500 2,867,300
= 3,364,000
[ 672,800
01 A28l 4,036,800 1,169,500 2,867,300
SeMFAIE £ 14 4,036,800
= 3,364,000
= 672,800
oA Z IS XI7 HBIAIS 1,000,000 975,000 25,000
= 500,000
S 250,000
Al 250,000
2o oA IHE X FBIAL 1,000,000 975,000 25,000
[ 500,000
= 250,000
Al 250,000
401 AIEHIX R0 1,000,000 975,000 25,000
[ 500,000
= 250,000
Al 250,000
01 Al&H| 1,000,000 975,000 25,000
OMHAS X7 e 14 1,000,000
= 500,000
< 250,000
Al 250,000
SR A 2+=A 2,087,552 1,668,725 418,827
= 857,312
Al 1,230,240
=IIotd =R A2 =ALS 2,087,552 1,668,725 418,827




SAM: ol
B SIESA E4AY
ol 2IBIART LA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 857,312
Al 1,230,240
2ot R E=AD (4LHZ & A1) 632,241 600,000 32,241
= 632,241
101 21AH| 354,188 335,485 18,703
= 354,188
MU IIRINZZE2NSES 354,188 335,485 18,703
O=0totd |SXI2cl&(15%) 319,014
-Jl== 80,0003 15 168! 201,600
= 201,600
-ma5dsrE 80,0002+ 15 »36== 42,000
= 42,000
RPN =S 80,0003 x 15«8 9,600
= 9,600
-Re2e=sg 120,000 x 15« 12& 21,600
= 21,600
- =4l 5,000& 15 168 12,600
= 12,600
-4 28& 287,400,000 *11% 31,614
= 31,614
OSEI| =Itetd RA2ALIA(48) 30,614
-Jl== 80,0003 x4 & x50 18,880
= 18,880
-ra5dsdE 80,0002 x4 135 4,160
= 4,160
RPNE =TSy 80,0002 x4 H+3& 960
= 960
e ] 120,0003 x4 +5& 2,400
= 2,400
- =4l 5,000& 4 502 1,180
= 1,180
—4dHEE= 27,580,000 *11% 3,034
= 3,034
Osta2e|d 1= 240,000 %19 4,560
= 4,560
201 er2&| 130,553 128,307 2,246
= 130,553
01 AtR2t2lt] 55,600 55,600 0
Ootd B2 & HEAIE £X
500,000 *200H A 10,000
= 10,000
Oogxz 7,200
- =& 600,000& «1CH* 12 7,200

_5_




S BT
M SR EF=A
ool 2IISHER T B4 A (cre:xigl)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 7,200
Oz SX2el 228 ¢
800,000 4 2+ 123 38,400
= 38,400
2 S=29| 74,953 72,707 2,246
O35 ¥ A 29,700
-z € =E= 1,500,000& *12& 18,000
= 18,000
-22FHE 75,0003 #1390 2% 123 11,700
= 11,700
OIS X bl 16,447
e uIEP) 1,757 3*16CH*32| E * 152+ 10, 121
= 10,121
-SEUFDI
1,757 3 =20 * 152 E x 152+ 6,326
= 6,326
OS] 7,206
~XPREH S
1,6673*1,8572|E{*1CH 3,0%
= 3,096
- XHFHIRAH L NSHALSH S
17,124,000 *12%*2CH 4,110
= 4,110
OADIE B4BRIAAY 222
1,800,000& * 12& 21,600
= 21,600
206 =4l 10,000 8,000 2,000
= 10,000
01 =Yl 10,000 8,000 2,000
O=3Jt6ta &332 Tt 7L 10,000
= 10,000
401 Al HIZL S 0HY| 135,000 125,708 9,292
= 135,000
01 Al&HI 135,000 125,708 9,292
O=It6t& AlE W2 80,000
= 80,000
O20tsta el FHIYRH
550,000 50120 55,000
= 55,000
405 KHHFSH| 2,500 2,500 0
= 2,500
01 ML SEFHSHI 2,500 2,500 0
OuxI & &8ss 7 2,500
= 02| 500,000 *4CH 2,000
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SAM: ol
B SIESA E4AY
ol 2IBIART LA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,000
-l 500,000 1CH 500
= 500
2ISHER X E+=A (40122l Sta2tel) 225,071 150,000 75,071
= 225,071
101 @124H| 85,071 0 85,071
= 85,071
04 JIZtN2Z2 XS E+ 85,071 0 85,071
O=JIotd (3t d) [ 222 (4) 85,071
-Jl=s 80,0002 x4 168 53,760
= 53,760
-Ra5gsE 80,0003 »4&H »355= 11,200
= 11,200
AL PA =Sy 80,0002 x4 H 8 2,560
= 2,560
-R2=2eE 120,000 x4 » 12 5,760
= 5,760
—=4| 5,0003 x4 » 168! 3,360
= 3,360
—-4EE = 76,640,000 *11% 8,431
= 8,431
401 A2 HIRL 01 140,000 150,000 10,000
= 140,000
01 A28l 140,000 150,000 10,000
Otz el st =Xl2e 140,000
-Masgd FAZd 30,000
= 30,000
-2 orM AL BOH220HA)
5,000,000 229 2 110,000
= 110,000
=Jtote A 970,174 340,152 630,022
101 @12A4H| 162,550 182,712 9,838
04 JIZtN22 XS 2+ 162,550 152,712 9,838
OdEEALHE ) 162,550
-Jl== 80,0003 x5 190! 76,000
-FaRgsE 80,0003 x6& »52%= 20,800
RPN =S 80,0002 x5 » 12 4,800
-ORAt22+E 120,000 x4 +80! 38,400
—=244| 5,000 x5 190! 4,750
-4z 140,000,000 *11% 15,400
— | =H| 240,000 x5 +23] 2,400
201 Ler=23 | 97,624 77,440 20,184
01 AtR2telHl 22,124 13,220 8,904




SAM: ol
B SIESA E4AY
9l IO R K24 AT (crel:ze)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odtd -1 =8d? =X 30 JMH
500, 00024421 2,000
OMEQENILY ABE 7
1,100,000 122 13,200
OAtEFa 8 21 72,0002 +7H 504
ONYREUTY FIloHB2| HBR
150,000& « 12& 1,800
OHELERHY HAZMAILE Ols=
385,000 * 12 4,620
® 222 75,500 64,220 11,280
OMBQEMTE ADHIA Ml 3,500
OMYRENLE ZTe3
5,000,000& «12& 60,000
OEX=IY SLEAAYE 2|
1,000,0002 122 12,000
401 AlZHIZ SO 710,000 110,000 600,000
01 A28l 710,000 110,000 600,000
OdEERLE S 600,000
OUEEARET A2 60,000
O=Jlotd &=+ ANEs RAl2e 50,000
B2 2tel 137,350 78,672 58,678
101 @12A4H| 29,040 25,362 3,678
04 JIZtNZ22 NS+ 29,040 25,362 3,678
Otfi=%& 22|02y e 23 29,040
-Jl== 80,000 x3H*100&! 24,000
—4AU2E= 24,000,000 *11% 2,640
- | =Hl 240,000 x5 +23] 2,400
201 er23| 23,310 23,310
01 AtR2t2|HI 12,510 12,510
O+ FIIotE A A
570,000 304 A 1,710
Obi=& &ojeta2e| =
300,000 x30H 2=x 123 10,800
02 S5=2g4l 10,800 10,800 0
0332 % HAl
300,000 3+ 123 10,800
401 AIEHIX R0 85,000 30,000 55,000
01 AlZ2H| 85,000 30,000 55,000
Obil==& Al =X 10,000,000 *42] 40,000
Oti+=& ot Ea
15,000,000 *39H 2 45,000
stEti+=& 2l 122,716 114,901 7,815
101 @124H| 32,476 24,661 7,815
M OIRINZZE2NSE S 32,476 24,661 7,815
Obi=& HZUFH 32,476




S BT
. St =2 4=ALE
ol 2IBIART LA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-Jl== 60,0002 x3F 100! 18,000
-m25dsE 60,0002 x3& *26== 4,680
—dxRsrd 60,0002 x3&+6& 1,080
- =4l 5,0002+x38 *100! 1,500
-4 2Es 27,960,000 *11% 3,076
-Re=2esdE 90,0002 x3& 10 2,700
— =4 240,0002 «3H *23] 1,440
201 et 3| 40,240 40,240
01 At 22|l 9,240 9,240
ORI EHE9| 250,000& * 122 3,000
Oaxgotddi= 220,000 122 2,640
ORX2el 428 7Y
300,000 x 12 3,600
02 S3=gHl 31,000 31,000 0
Os32= € Al 2,500,000 122 30,000
OL=4=1=3 1,000
401 AlEHIZL S0 50,000 50,000
01 Al&H| 50,000 50,000
Otil=& Ald=2= & S| 50,000
MHato 2=t 1,397,450 5,409,050 /4,011,600
aotd 2el 954,050 4,804,050 A3,850,000
A0t HHIAF (M EHALS) 554,050 504,050 50,000
201 2= 1,050 1,080 0
01 At22t2l] 1,050 1,080 0
Oxotdelde H3&E ¢
70,0002 x5 +33] 1,050
401 AlZHIZ S0 553,000 503,000 50,000
01 Al&HI 550,000 500,000 50,000
O2otd |2l 400,000
Oxotd & 2H OI=EA 24=
100,000& %1,000m" 100,000
Ostg Qtot1aote HHIAY 50,000
03 Al 20HHI 3,000 3,000 0
OAotEEHIAIYE AlE =0t 3,000
A5t XIS FHIAIS (HEALY) 300,000 300,000
401 AIEHIX SO 300,000 300,000
01 AlZH| 300,000 300,000
OS] L=1.2km 300,000
SAGHE IHIAIG (HEALY) 100,000 2,000,000 1,900,000
401 Al HIZ R 0HHI 100,000 2,000,000 1,900,000
01 AlZ8| 100,000 2,000,000 1,900,000
Oz & 1=0.35%km, EX X 100,000




M Gt
M THoHol =& st

=i H [FSR<al (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HIE EH 100,000 100,000 0
NEZHIAIS (B & ALY) 100,000 100,000 0
401 Al HIZ 2018 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OAMIE =Xl2tclbl 10,000, 0002 * 1090 2 100,000
T HEH 343,400 341,000 2,400
TAEHIAY 343,400 341,000 2,400
201 ger= 3| 400 400 0
01 AtR2te|H] 400 400 0
Ol ANEE itz 400
401 AIEHIZ R 0HYI 343,000 340,600 2,400
01 Al&H| 342,000 339,600 2,400
O SHIAY 15,000, 000& 2091 2 300,000
oMY £ S=S=+ dHl 8=
700,000 «4CH* 15 42,000
03 Al S THYI 1,000 1,000 0
O=7H EBIAE A& 2THYI 1,000
Y2 A (G ) 63,469 69,510 26,041
Jl=3H| 63,469 69,510 26,041
Jl=23H] 63,469 69,510 26,041
201 Ler23| 30,589 31,590 A1,001
01 At2teltl 30,589 31,590 21,001
Ol S JIZMFESHI 9,000
Ol 2= JIE==3H| 5,400
Ot S8 0t & FL2Z2X =]
650,000& 19 12,350
OUXE=sE)| ext= 260,000 122 3,120
OZRZU &9 ALY SXE
59,9002 123 719
202 04| 27,360 31,920 A4,560
01 2LHA b 27,360 31,920 A4,560
Ot 38 JI=2Y2R =30H|
120,000« 19 122 27,360
203 HR=H] 4,320 4,800 A480
M EA2ER=A 4,320 4,800 480
ORNEgE =AY 360,000& * 122 4,320
204 AR A 1,200 1,200
01 Mg R3] 1,200 1,200
OUd HHIHI Y|
100,000 * 122 1,200

_10_




	38_01하천과.pdf
	38_02하천과.pdf



